GOLFSNIN-#==1=)F

2022F RISYFEFHE

TiETTUR 20224E11H 6H &4 324
(P#EE  83AM—/1447T 1644)

NI AN 20224E11H13H &hn 154

iremilime o

3 BRESA 2fi E5ETA B ikSA EHBEREAR

g {5z K % F & R TOTAL
2 B K A’ 76 70 146
243 2 5 Bt 72 78 150
31 B H ' = 72 79 151
441 B%® = 79 78 157
51 £ % % 80 78 158
611 X Wb # = BB 82 77 159
711 W " X 82 78 160
81i E H p P 80 80 160
ofis A F 0 80 80 160
104z £ i & 81 82 163
1141 A &K BH & 8k 77 86 163
124 &’k IR %" = 83 81 164
134 (ITH B X2 83 82 165
1441 5k BA ¥ 83 82 165
1541 NS X t 79 86 165
164z Ak & B F 79 79

X 2MUTDEARAT7DIHEE ORBSIVUEEE QV=F7R5—




